Math 153 - Quiz 7 Name l(et()
October 19, 2017 Score

Show all work to receive full credit. Supply explanations when necessary.

1. (5 points) The probability distribution for the random variable z is shown below.

c | 2 ]3| 4|5 |6 738
P(z) | 0.01]0.03 | 0.02]0.32 ] 0.56 | 0.03 ] 0.03

(a)" Confirm that the table describes a probability distribution.
0 P(x) 4| V. P = 0.0\+0.03+0.6% +0.39+0:5¢
'A”Q’
For AW X . _ + 0.03%0.03 = /.00

(b) What is the mean value of z?

M= 9(0.0\)+ 3(0.03) + 4(0.0) * *=+ + 8(0-03)

(c) What is the standard deviation in z?

a
o?= Ylo.ol) + F(0.03)+ /6(0.0Q) + oo (oV(O.og) - (5.6)

= 0.89
Olf' 0083 % O.cl

(d) Use the mean and standard deviation to determine the unusual values of z.

/(,{-aof y 2.9 = At 3 Aee UnuUsUALLY SMaA L
/b{‘f' ao-~ 7.4 = 8 = Unusuawy Lacge

(e) Use the 5% rule to determine the unusual values of z.

At D aec UNUSUALL L TMAWL BRCAUSE P(xf:s} = Q.0M < o0.05

(L\ s NvoU U}\J\AQUAL.)

% N UNusuM.\b LNza& RBeCAURE P( )(2:5\ = 0.03 £ 0.05

) <I7, 13 NOT UMuWAL,>




\ 2. (5 points) Based on a recent Gallup Poll, the probability that a random American
O adult is a fan of professional (American) football is 57%. Suppose 15 American adults
N\

\::\po a are selected at random.
. a at 1s the probability that 9 are rans?
(\“O(O’b(Wh'h bability that 9 are fans?
= e
R o

%A Pix=q) = binompdF(15,0.87,9)

" x/[0.90\0

(b) What is the probability that more than 10 are fans?

P(x»\o} = |- P(Xe\@
= |- binemed P18, 0.57,10) |

(c) In the sample of 15, what would be an usually small number of fans? (Show your
work.)

QP_Q\JV\PCL P~ L{.W\E)

= Y or Fewewr AZE UNUSUAL




